Mathematics 2360
Quiz 1
Jan 21, 2010
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Determine the values of xy, 23, 73 and zy for the following traffic flow diagram:

uvmken ca) LWG B \
X £330 = Ko ¥ &BO T * s
| cho = ,)(6.\,42_0 — Ky - 4 N— — |\
Yot - - 250
x, +4&70 = 420 r 400 — * = g16
> ) -
7(;4,\7(( — 4‘2_() {_.L(.S‘O —> /X—‘\'+,)('
\ -1 0 O \s50°" \ - 0 0|50 N -l\ O\gffo
— O - -
~ - - R 0 v -\ O \20 \ -0
%Tl) :%3\;0/‘)0 o \ o| 350 g%;c:ﬁqqc
@ [ 70 c { o0 11620 i
| © i -1 O 0 {5©e .\ O 0 0ofaée°
V- 0 0\sO o 0 020 |4lo | o 0L3C
4 o|'z8 N |0 p ) 0|30 o o \0\3T
o 550 N 40
c 0 l O 0 o O I?O\ 6 0 0| 0
o o © (|Bao
K= 280 | £.=230, %3=890 "Lr“?‘lCﬂ




